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QUESTION 1

An administrator has enabled vSphere Distributed Switch Health Check. The hosts connected to that
Distributed Switch all display an alert:

vSphere Distributed Switch MTU supported status

The administrator has all of the VMkernel ports MTU sizes set to 1600.

Which action will remedy this problem?

A. Configure the Distributed Switch to MTU 9100.

B. Disconnect and reconnect the physical network cable.

C. Configure the physical switch to MTU 1600.

D. Disable the Distributed Switch MTU.

Correct Answer: C

QUESTION 2

Which setting will allow a virtual machine to have direct secure access to an RDM?
A. NIOC

B. NPV

C. NPIV

D. CPUID Mask

Correct Answer: C

QUESTION 3

Which two statements correctly describe VM-VM affinity rules? (Choose two.)

A. vSphere DRS attempts to keep the virtual machines together on the same ESXi host.

B. When two VM-VM affinity rules conflict, the older one takes precedence and the newer rule is disabled.
C. vSphere DRS attempts to keep the virtual machines on separate ESXi hosts.

D. When two VM-VM affinity rules conflict, the newer one takes precedence and the older rule is disabled.

Correct Answer: AB
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QUESTION 4

How can failback of a recovered virtual machine in vSphere Replication be performed?
A. No action required, because failback is automatically performed to the source site.
B. Configure a new replication in the reverse machine at the target site.

C. Power off and unregister the virtual machine on the target site.

D. Disable or Stop the virtual machine replication on the source site.

Correct Answer: B

Failback of Virtual Machines in vSphere Replication Failback of virtual machines is a manual task in a vSphere
Replication. After performing a successful recovery from the primary site to the secondary site, you can perform
failback. You manually configure a new replication in the reverse direction, that is, from the secondary site to the primary
site. The disks of the primary site are used as replication seeds, so that vSphere Replication only synchronizes the
changes made to the .vmdk files. Before you configure the reverse replication, you must manually unregister the virtual

machine from the inventory on the primary site.

QUESTION 5

View the Exhibit. The exhibit represents a vCenter HA with external Platform Services Controllers in a highly available

deployment.

How many vCenter Server 6.5 licenses are required?
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Platform Services Platform Services
Controller Controller

Load Balancer

vCenter (Active) vCenter (Passive)

Mgmt Interface

HA Iinterface . - HA Interface
vCenter HA
MNetwork

Witness

Correct Answer: D
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